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1 intsum (int n){ » 0

2 inti; - 0

3 ints=0; , 1

4 for (i=0;i<=n; i++) »  n+2

5 S+=i; » n+1(1)

6 returns; . 1

}

2n+3
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int test (int n){
int}, j, a=5, b=10, c=a} b;
for (i=1;i<=n;i++)
for (j=1;i<n; j++){
a+=1;
b+=2;
c+=a+Db;}

return c,
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s BEN - 9 3 6 3 K=2
2 s I o 3 6 3 K=3

Insertion sort ( A contain n numbers )

For k=2 to n do

key € A[k] 3 A 2 n 3 6 3 K=4
i €k 2 4 8 9 3 K=5
while i >1 and A[i-1] > key do 2 3 4 8 3 k=6
Ali] € Afi-1] 2 3 i 6 8 K=7
A 2 3 3 4 6 3 9 K=8

Ali] € key
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Insertion sort ( A contain n numbers )
SRS I B 5 T(n) = nSy+ (n — 1)(S2+53) + Sy Ty tie + (S5+S6)
ey € A 5, Zhat=D+(-1Ds;
i & k S; T(n)=An+B+CXY}_,
while i>1 and A[i-1]>key do S, an +b .o e |
Ali] € A[i-1] Ss a'n®+b'n+c > oy
i €i-1 Se

€90 - 1 pilin >

—

Ali] € key S7
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Insertion sort ( A contain n numbers ) IO
Gy T(oy)
For k=2 to n do S,
a2 T(az)
key € A[k] e .. T(as)
I 6 k 53 0y T(a4)
while i>1 and A[i-1] > key do Sy
Ali] € A[i-1] S-
Q T Q,,
i €i-1 S6 n. ( n,)
= Z?‘—"l T(ai)

Ali] € key S- el

n!
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(n-1)(n) _ n-n - C

1+2+..+n-2+n-1=
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Sy 31000 210 0534 | 254 Ja 4 1000
Py
100n

1000 10 100 10
131.94 3.2 45 14 5n?
125.99 2.3 27 12 n3
2
2 1.3 13 10 28

A4: n=100 =» 21005 = (210)105 3 10305 = 1020 jL.,

Al: n=100 =» 10000s = cclo ¥ 550>
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F(n) =0(g(n)) -—> {3¢>0,ny>0 | Vn2n,;f(n)<c.g(n)}

c.g(n)
f(n)

Mo
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fln)=2n%2 —3n+4 ,  g(n)=n3 f(n) L O(g(n)) i Jle

2n2 —3n+4 <c.n® 2> 2n2 —3n+4 <2n3 [ 2n2< 213

—

-3n+4<0 : n>1

2n%-3n+4< 2n3 :n>1

c=2,n,=2:VY n22:2n%3n+4< 2n3
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g(n) = O(f(m))
{Ac,ng | n2ngy,c(2n? —3n+4) <n3}

n>+2cn“—3cn+4>0
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F(n) =Q(g(n)) -—-> {3¢>0,ny>0 | VNn2ngy;f(n)>c.gn)}
e
g(n)=2n%?—-3n+4 f(n) = n3
f(n) = O(g(n)
n3 > 2cn? — 3cn + 4¢ ---------- >n3>2n°—-3n+4 :n>2
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F(n) = 10°n2 gln)=n? — > g(n) = Qlf(n)

f(n) ealuca s 2t ley oilass FraS Sl cales den Jall Q(f(n)) sls Ol olas oo IS ek S

8n*
1000n°+1
Q(n?‘)

3

n
5n°+100n2
2"49n



o e g
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F(n)=06(gn) —> {3 ¢y, c;50,n0>0 | V2 1y ; ¢q.8(n) < f(n) < cy.8(n)}
F(n) =B(g(n)) <--> F(n)=0(gn), F(n) =Q (g(n))
;e
f(n)=3n+3 g(n) =2n

c1=1,c=2 - S0 < 33 < An) 0t F(n) = B(g(n))
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F(n) = 0(n%) as ols lis ol oo 2l f(N) = agn
F(n) = O(n")
3 ¢,ny>0; apn® + ... +a;n! +ay < cn
c=Xisola] ,n=1
F(n) =Q (n¥)
k

3 c,ng>0; qpn® +..+ant+ay>cn

c =min(ay, Qx-1, ..., a1,q9) , N=1
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log'n< logn < \Jn < \nlogn <n<nlogn= log(n!) <n* <n® < (logn)! <
2" <3 < flogn)* < nl <n"
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n!=n *(n-1)! Xt =p gt
Int fact( int x ){ Int pow(int X, int n ){
if(x>1) if(n>=1)

return x * fact(x-1); return x * pow(x,n-1);
else else

return 1; return 1;
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int fib (int n) P> '\&
I{f(n<=1) N /‘ N

'\// ; \ v
Else | . S \ ¥ o/ i
retum (fibin-1) +Abin-2)); o,v N4
|
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Int fact( int x ){

if(x>1)
return x * fact(x-1);
: T(n) =T(n-1)+c n>c

else - T(n) = ¢

return 1;

n<=c

int fib (int n)

{

If(n<=1) T(n) =T(n-1)+T(n-2)+c n>c
return n; -

Else T(n)=c H=C
return (fib(n-1) + fib(n-2));

}
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int test (int n)
{
if(n<=c¢) T(n) =2T(n-1) + ¢ n>c

return 1 e
T(n)=c n<=c

return (test(n-1) + test(n-1));

else
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T(n) = 2*T(n-1) + ¢ = 2*[2*T(n-2)+c]+c =4T(n-2)+3c = 4*[2*T(n-3)+c]+3c
=8T(n-3)+7c = 8*[2*T(n-4)+c]+7c=16T(n-4)+15c =....

T(n) = 2XT(n-K)+ (28-1) € ~rommiommimeme3> T(n) = 2°~CT(n-n+c)+ (2°-1) ¢

T(c)=c
=2"°T(O)+ (2" C)c-¢c = (2 ¢+ -1) ------- >T(m) =002")
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int test2 (int n)

{
if(n<=c)

return 1;
else

return (test('—zl) + test(g)) :

e

T(n) = 2T(3) + ¢

T(n)=c

n>c

n<=c

e
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T(n) = 2*T(;) + ¢ = 2*[2*T(§)+c]+c =4T())+3c= 4*[2*T('-;)+c]+3c
_ aT(™ _ n = n _
= 8T(5)+7c = 8*[2*T()+c]+7c =16T()+15¢c =....

ks (Zl°g% -Dc

2log =

T(n) = 24T+ (2%-1) ¢ ~2omem cereeeeeee> T(n) = 2B T(

=STE+(Ele-¢ = -c > T(n) = 0(n)



